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TNPSC GROUP I – TEST BATCH 2022 
TEST XIII – UNIT IV HISTORY & CULTURE OF INDIA 

 
1. Which of the following is surname of Chandragupta II? 

a. Vikramaditya  b. Narendrachandra   c. Devagupta 
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vJ ,uz;lhk; re;jpuFg;jhpd; gl;lg;ngah;? 
a. tpf;fpukhjpj;jpah;  b. eNue;jpure;jpud;   c. NjtFg;jh; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

2. Choose the Harsha’s popular work 
a. Ratnavali   b. Nagananda   c. Priyadharshika 
d. All of these  e. Answer not known   
`h;~hpd; Gfo;ngw;w E}iyj; Njh;T nra;f 
a. uj;dhtsp   b. ehfee;jh    c. gphpajh;rpfh 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
3. Choose the correct statements about Hiuen Tsang 

I. Hiuen Tsang, the ‘Prince of Pilgrims’ visited India during Harsha’s reign 
II. His Si-Yu-Ki provides detailed information about the social, economic, religious 

and cultural conditions of India during Harsha’s time 
III. Hiuen Tsang tells us how Harsha, though a Buddhist, went to participate in the 

great Kumbhamela held at Prayag 
a. I, II  b. I, III  c. II, III d. I, II, III  d. Answer not known 
Athd; Rthq; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ‘Gdpj ahj;hPfh;fspd; ,sturd;’ vd;wiof;fg;gLk; Athd; Rthq;> `h;~hpd; 

Ml;rpapd;NghJ ,e;jpahTf;F te;jhh;. 
II. rp-A+-fp vDk; mtuJ gazf; Fwpg;Gfs; mlq;fpa Mtzq;fspd; njhFg;G> `h;~h; 

fhyj;J ,e;jpahtpd; r%f> nghUshjhu> kj> gz;ghl;L epiyfs; Fwpj;J tphpthd 
nra;jpfis toq;FfpwJ. 

III. `h;~h; xU ngsj;juhf ,Ue;jNghJk;> gpuahifapy; eilngw;w khngUk; Fk;gNksh 
tpohtpy; fye;Jnfhs;sr; nrd;whh; vd;W Athd; Rthq; Fwpg;gpl;Ls;shh;. 

a. I, II  b. I, III  c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

4. Choose the correct statements about Pallavas  
I. The Pallava Kings ruled around the prosperous agrarian settlement and important 

trade centre of Kanchipuram on the Southeast coast of India  
II. The central part of their kingdom was Thondaimandalam 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
gy;yth;fs; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. gy;yt murh;fs; njd;fpof;Ff; flw;fiu gFjpapy; Kf;fpa tzpf ikakhfj; 

jpfo;e;j fhQ;rpGuj;ijak;> mjd; tsk; epiwe;j Ntshz; gFjpiaAk; Mz;ldh;. 
II. njhz;il kz;lyk; gy;yt murpd; ikag;gFjpahf ,Ue;jJ. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
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5. Which of the following sources used to know about the Pallavas? 
I. Mandagapattu cave inscription 
II. Aihole inscription of Pulikesin II 
III. Kasakudi Copper Plates 
IV. Accounts of Chinese traveller Hiuen Tsang 
a. I, II  b. II, III, IV c. I, II, III d. I, II, III, IV d. Answer not known 
fPo;f;fz;ltw;Ws; gy;yth;fs; gw;wp mwpa cjTk; rhd;Wfs; ahit? 
I. kz;lfg;gl;L Fiff; fy;ntl;L 
II. ,uz;lhk; GypNfrpapd; ma;Nfhy; fy;ntl;L 
III. fhrf;Fbr; nrg;NgLfs; 
IV. Athd; Rthq;fpd; gazf;Fwpg;Gfs; 
a. I, II  b. II, III, IV c. I, II, III d. I, II, III, IV  d. tpil njhpatpy;iy 
 

6. Choose the correct statements about Paranjothi 
I. Narasimhavarman II’s army general was Paranjothi 
II. He was popularly known as Siruthondar 
III. He led the Pallava army during the invasion of Vatapi 
a. I, II  b. I, III  c. II, III d. I, II, III d. Answer not known 
guQ;Nrhjp gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ,uz;lhk; eurpk;kth;kdpd; gilj;jsgjp guQ;Nrhjp 
II. ,th; rpWnjhz;lh; vdg;gpugykhf mwpag;gl;lhh; 
III. ,th; thjhgpg; gilnaLg;gpy; gy;yth; gilf;Fj; jiyik Vw;W elj;jpdhh; 
a. I, II  b. I, III  c. II, III d. I, II, III d. tpil njhpatpy;iy 
 

7. The famous Kailasanatha Temple at Kanchipuram was built by 
a. Mahendravarma I  b. Narasimhavarma I  c. Rajasimha  
d. Nandivarma II   e. Answer not known  
fhQ;rpGu;jpYs;s Gfo;ngw;w ifyhrehjh; Nfhtpiyf; fl;bath; ahh;? 
a. Kjyhk; kNfe;jputh;kd;  b. Kjyhk; eurpk;kth;kd;  c. uh[rpk;kd; 
d. ,uz;lhk; ee;jpth;kd;  e. tpil njhpatpy;iy 
 

8. Choose the titles of Mahendravarma I 
I. Sankirnajati  II. Mattavilasa III. Gunabhara  
IV. Chitrakarapuli  V. Vichitrachitta  
a. I, II, III   b. II, IV, V   c. I, II, III, IV   
d. All of these  e. Answer not known 
Kjyhk; kNfe;jputh;kdpd; gl;lq;fisj; Njh;e;njL 
I. rq;fPuz[jp  II. kj;jtpyhrd;  III. Fzghud; 
IV. rpj;jpufhug;Gyp  V. tprpj;jpurpj;jd;  
a. I, II, III   b. II, IV, V   c. I, II, III, IV   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

9. Choose the correctly matched pairs regarding Pallava Architecture 
I. Rock cut temples – Mahendravarman style 
II. Monlithic Rathas – Mamallan Style 
III. Structural temples – Nandivarman style 
IV. Structural Temples – Rajasimhan style 
a. I, II, III b. II, III, IV c. II, IV d. I, II, III, IV  e. Answer not known 
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gy;yth; fl;llf;fiy njhlh;ghdtw;wpy; rhpahd ,izfisj; Njh;e;njL 
I. ghiwf; Filtiuf; Nfhtpy;fs; - kNfe;jputh;kd; ghzp 
II. xw;iwf;fy; ujq;fs; - khky;yd; ghzp 
III. fl;Lkhdf; Nfhtpy;fs; - ee;jpth;kd; ghzp 
IV. fl;Lkhdf;Nfhapy;fs; - uh[rpk;kd; ghzp 
a. I, II, III b. II, III, IV c. II, IV d. I, II, III, IV e. tpil njhpatpy;iy 
 

10. Choose the correctly matched pairs 
I. Dandin – Narasimha varma II 
II. Bharavi – Simhavishnu  
III. Perundevanar – Nandivarman II 
a. I, II  b. I, III  c. II, III d. I, II, III e. Answer not known 
rhpahf nghUe;jpa ,izfisj; Njh;e;njL 
I. jz;bd; - ,uz;lhk; eurpk;kth;kd; 
II. ghutp – rpk;ktp~;Z 
III. ngUe;Njtdhh; - ,uz;lhk; ee;jpth;kd; 
a. I, II  b. I, III  c. II, III d. I, II, III e. tpil njhpatpy;iy 
 

11. Choose the incorrectly matched pairs 
I. Vatsyaya  - Nyaya Bhashya 
II. Dandin  - Dashakumara Charitha 
III. Kalidasa  - Kiratarjuniya 
IV. Perundevanar - Bharathavenba 
a. I, II  b. III  c. IV  d. None of these e. Answer not known 
jtwhfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. thj;];ahah;  - epaha gh~;ah 
II. jz;bd;  - jrFkhu rhpjk; 
III. fhspjhrh;  - fpuhjhh;[Pdpak;  
IV. ngUe;Njtdhh; - ghujntz;gh 
a. I, II  b. III  c. IV  d. vJTkpy;iy e. tpil njhpatpy;iy 
 

12. Choose the correct statements about Pattadakal 
I. UNESCO World Heritage Site 
II. It has ten temples 
III. Four temples were built in Dravida style 
IV. Six temples were built in Nagara style 
a. I, II  b. III, IV c. I, II, III d. I, II, III, IV  e. Answer not known 
gl;llf;fy; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ,J xU And];Nfh cyfg;ghuk;ghpar; rpd;dk; 
II. ,q;F 10 Nfhtpy;fs; cs;sd 
III. ehd;F Nfhtpy;fs; jpuhtpl ghzpapy; fl;lg;gl;Ls;sJ 
IV. MW Nfhtpy;fs; ehfhuh ghzpapy; fl;lg;gl;Ls;sJ. 
a. I, II  b. III, IV c. I, II, III d. I, II, III, IV  e. tpil njhpatpy;iy 
 

13. Choose the correct statements 
I. The art and architecture of the Rashtrakutas can be found at Ellora and Elephanta 
II. The Kailasanatha temple at Ellora has resemblance to the shore temple at 

Mamallapuram 
a. I only   b. II only    c. Both I and II  
d. None of these  e. answer not known 
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rhpahd $w;Wfis Njh;T nra;f 
I. uh~;bu$lh;fspd; fiy kw;Wk; fl;blf;fiyr; rhjidfis vy;NyhuhtpYk; 

vypngz;lhtpYk; fhzyhk; 
II. vy;NyhuhtpYs;s ifyhrehjh; Nfhtpy; khky;yGuk; flw;fiuf; Nfhtpypd; 

rhaiyg;ngw;Ws;sJ 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
14. Match the following 

A. Vellanvagai  1. Land for the maintenance of a School 
B. Brahmadeya  2. Land gifted to Brahmins  
C. Shalabhoga  3. Land of non Brahmin proprietors 
D. Devadana   4. Land gifted to temples 
E. Pallichandam  5. Land donated to Jaina institutions 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 5 2 1 4 3 
d. 1 2 5 4 3 
nghUj;Jf 
A. Ntshz; tif 1. fy;tp epiyaq;fisg; guhkhpg;gjw;fhf toq;fg;gl;l  

epyq;fs; 
B. gpuk;kNjak;  2. gpuhkzh;fSf;Ff; nfhilahf toq;fg;gl;l epyq;fs; 
C. rhyNghfk;  3. gpuhkzuy;yhj cilikahsUf;Fr; nrhe;jkhd epyq;fs; 
D. Njtjhdk;  4. Nfhtpy;fSf;F nfhilahf toq;fg;gll epyq;fs; 
E. gs;spr;re;jk;  5. rkzrka epWtdq;fSf;F nfhilahf toq;fg;gl;l  

epyq;fs; 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 5 2 1 4 3 
d. 1 2 5 4 3 
 

15. Choose the correctly matched pairs 
I. Thiruvalangadu plates - Rajendra Chola I 
II. Anbil plates   - Sundara Chola 
III. Uttiramerur inscription - Parantaka Chola 
a. I, II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. jpUthyq;fhL gl;laq;fs; - Kjyhk; uhN[e;jpu Nrhod; 
II. md;gpy; gl;laq;fs;  - Re;juNrhod; 
III. cj;jpuNk&h; fy;ntl;L  - guhe;jf Nrhod; 
a. I, II  b. I, III  c. II, III d. I, II, III  e. tpil njhpatpy;iy 

 
16. Consider the following 

Assertion (A): Muhammad Ghori had stamped the Figure of Goddess Lakshmi on  
his Gold coins and had his name inscribed on it. 

Reason (R): This coins tells us that this early Turkish invader was in all likelihood  
liberal in religious outlook 
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a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true and R false 
d. A false and R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): KfkJ Nfhhp jhd; ntspapl;l jq;f ehzaj;jpy; ngz; nj;atkhd ,yl;Rkpapd; 
tbtj;ijg; gjpg;gpj;Jj; jdJ ngaiuAk; nghwpf;fr; nra;jpUe;jhh;. 
fhuzk; (R) : ,e;ehzak; ,e;jj; njhlf;ffhyj; JUf;fpag; gilnaLg;ghsh; kjtpraq;fspy; 
jhuhsj;jd;ikAld; ele;J nfhz;lhh; vd;gjw;fhd midj;Jr; rhj;jpaf; $WfisAk; 
czh;j;JfpwJ. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fy;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
17. Choose the correctly matched pairs 

I. Periyapuranam   - Sekkhizhar 
II. Nalayira Divyaprabhandham  - Nambiyandar Nambi 
III. Devaram    - Nathamuni 
IV. Thiruvasakam   - Manikkavasakar 
a. I, II, III  b. II, II  c. I, IV  d. I, II, III, IV  e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. nghpaGuhzk;    - Nrf;fpohh; 
II. ehyhapu jpt;ag;gpuge;jk;  - ek;gpahz;lhh; ek;gp 
III. Njthuk;    - ehjKdp 
IV. jpUthrfk;    - khzpf;fthrfh; 
a. I, II, III  b. II, II  c. I, IV  d. I, II, III, IV  e. tpil njhpatpy;iy 
 

18. How many pairs are correctly matched? 
I. Gita Govindam - Jayadeva 
II. Madura Vijayam  - Ganga Devi 
III. Amukthamalyatha - Krishnadevaraya 
IV. Prithviraj Raso  - Kalidasa 
a. 1 pair  b. 2 pairs c. 3 pairs d. 4 pairs e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUj;jg;gl;Ls;sd? 
I. fPjhNfhtpe;jk;  - n[aNjth 
II. kJuhtp[ak;  - fq;fhNjtp 
III. mKf;jkhy;ajh - fpU~;zNjtuhah; 
IV. gphpj;tpuh[; uNrh - fhspjhrh; 
a. 1 ,iz   b. 2 ,izfs;   c. 3 ,izfs;   

d. 4 ,izfs;  e. tpil njhpatpy;iy 
 

19. Match the following 
A. Minhaj-us-siraj  1. Tabakat-i-Nasiri 
B. Hasan Nizami  2. Taj-ul-Ma’asir 
C. Zia-ud-Barni  3. Tarikh-i-Firoz Shahi 
D. Ferishta   4. Tarikh-i-Frishta 
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A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 1 3 2 4 
nghUj;Jf 
A. kpd;f[;-c];-rpuh[; 1. jgfj;-,-e];hp 
B. `rd; ep[hkp  2. jh[;-cy;-kh-mrph; 
C. [pah-cj;-guzp  3. jhhpf;-,-gpNuh~hfp 
D. nghp~;lh   4. jhhpf;-,-nghp~;lh 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 1 3 2 4 
 

20. Which of the following deals with the history of the rise of the Mughal power in India? 
a. Tabakat-i-Nasiri  b. Taj-ul-Ma’asir  c. Tarikh-i-Firozshahi 
d. Tarikh-i-Frishta  e. Answer not known 
fPo;f;fz;ltw;Ws; vJ ,e;jpahtpy; Kfyha Ml;rpapd; vOr;rp Fwpj;J tpthpf;fpd;wJ? 
a. jgfj;-,-e]php  b. jh[;-cy;-kh-mrph;  c. jhhpf;-,-gpNuh~hfp 
d. jhhpf;-,-nghp~;lh  e. tpil njhpatpy;iy 
 

21. How many pairs are correctly matched? 
Books    Authors 

I. Ain-i-Akbari  - Abul fazal 
II. Akbar Nama  - Akbar 
III. Tazk-i-Jahangiri - Jahangir 
IV. Tabakat-i-Akbari - Badauni 
a. 1 pair b. 2 pairs  c. 3 pairs d. pairs e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUj;jg;gl;Ls;sd? 

  E}y;     Mrphpah; 
I. mapdp mf;ghp  - mGy;ghry; 
II. mf;gh; ehkh  - mf;gh; 
III. jRf;-,-[`hq;fphp - [`hq;fPh; 
IV. jgfj;-,-mf;ghp - gjhdp 
a. 1 ,iz   b. 2 ,izfs;   c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njhpatpy;iy 
 

22. Choose the correct statements about Marcopolo 
1. Marcopolo, a Venetian traveller, visited the later Pandiya Kingdom 
2. Marcopolo was twice in Kayal, which was a port city 
3. Marcopolo tells that he himself came by a ship from China 
4. According to Marcopolo, thousands of horses were imported into Southern India by 

sea from Arabia and Persia 
a. 1, 2, 3 b. 1, 2, 4 c. 2, 3, 4 d. 1, 2, 3, 4  e. Answer not known 
khh;f;NfhNghNyh gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
1. ntdp]; efiur; Nrh;e;j gazp khh;f;NfhNghNyh gpw;fhy ghz;bah; Ml;rpapy; tUif 

Ghpe;jhh;. 
2. mth; jkpofj;jpy; fhay; vDk; CUf;F ,UKiw te;Js;shh; 
3. rPdhtpypUe;J jhk; fg;gypy; te;jjha; khh;f;NfhNghNyh $wpAs;shh;. 
4. mNugpahtpypUe;Jk; ghurPfj;jpypUe;Jk; Mapuf;fzf;fpy; Fjpiufs; njd;dpe;jpahtpy; 

fly; topahf ,wf;Fkjp nra;ag;gl;jhf khhf;NfhNghNyh Fwpg;gpLfpd;whh;. 
a. 1, 2, 3 b. 1, 2, 4 c. 2, 3, 4 d. 1, 2, 3, 4  e. tpil njhpatpy;iy 
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23. Choose the correct statements about Ibn Battuta? 
I. According to him, Egypt was rich then, because of the whole of the Indian trade 

with the west passed through it. 
II. He describes the city of Delhi a vast and magnificent city. 
a. I only    b. II only   c. Both I and II   
d. None of these  e. Answer not known 
,gd; gJ}jh gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. mtUila fUj;Jg;gb vfpg;Nj nry;tk; nfhopj;j ehlhFk; Vnddpy; Nkw;fj;jpa 

ehLfSldhd ,e;jpahtpd; tzpfk; KOtJk; vfpg;jpd; topahfNt eilngw;wJ. 
II. nly;yp xU gue;J tphpe;j> Neh;j;jpahd efunkd;W mth; tpthpf;fpwhh;. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. vJTkpy;iy 
 

24. Who among the Delhi Sultans transferred his capital from Delhi to Dauladabad? 
a. Iltumish   b. Balban   c. Muhammad Bin Tughlaq 
d. Alauddin Khalji e. Answer not known 
fPo;f;fz;l nly;yp Ry;jhd;fspy; ahh; jdJ jiyefiu nly;ypapypUe;J njsyjhghj;jpw;F 
khw;wpdhh;? 
a. ,y;Jkp~;  b. ghy;gd;   c. KfkJgpd; Jf;sf; 
d. myhTjpd; fpy;[p e. tpil njhpatpy;iy 
 

25. Arrange the following travellers in chronological order regarding their visit to Vijayanagar 
I. Abdur Razzag  II. Nicolo Conti  III. Domingo Paes 
a. I, II, III b. II, I, III c. III, I, II  d. II, III, I d. Answer not known 
fPo;f;fz;l gazpfspd; tp[aefu tUifg;gb fhythpirg;gLj;Jf 
I. mg;Jh; urhf;  II. epf;NfhNyh Nfhz;b  III. Nlhkpq;Nfh ga]; 
a. I, II, III b. II, I, III c. III, I, II  d. II, III, I d. tpil njhpatpy;iy 

 

26. Sathish Kumar borrowed ₹ 52,000 from a money lender at a particular rate of simple 

interest. After 4 years, he paid ₹ 79,040 to settle his debt. At what rate of interest, he 
borrowed the money? 
a.13%  b.11%  c. 12%  d.10%  e. Answer not known 
rjP~;Fkhh; vd;gth; xU fld; toq;F eghplkpUe;J Rs.52>000 I xU Fwpg;gpl;l jdptl;b 
tPjj;jpy; fldhfg; ngw;whh;. 4 Mz;Lfs; fopj;J rjP~;Fkhh; Rs.79>040 I nkhj;jj; 
njhifahfr; nrYj;jpdhh; vdpy;> tl;b tPjj;ijf; fhz;f.  
a.13%  b.11%  c. 12%  d.10%  e. tpil njhpatpy;iy 

 

27. In how much time will the simple interest on ₹3,000 at the rate of 8% per annum be the 

same as simple interest on ₹4,000 at 12% per annum for 4 years? 
a. 4 years   b. 8 years    c. 10 years   
d. 12 years  e. Answer not known 
₹3>000 mrYf;F Mz;Lf;F 8% vd toq;fg;gLk; jdptl;bahdJ ₹4>000 mrYf;F Mz;Lf;F 
12% vd 4 Mz;LfSf;F toq;fg;gLk; jdptl;bf;F epfuhFk; fhyk; vd;d? 
a. 4 Mz;Lfs;  b. 8 Mz;Lfs;   c. 10 Mz;Lfs; 
d. 12 Mz;Lfs; e. tpil njhpatpy;iy  

 
28. Rahul borrowed ₹4,000 on 7th of June 2020 and returned it on 19th August 2020. Find the 

amount he paid, if the interest is calculated at 5 % per annum. 
a. ₹4000  b. ₹4004    c. ₹4040   
d. ₹4400  e. Answer not known 
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uhFy; 7.6.2020 md;W ₹.4>000 I fldhfg; ngw;W mij 19.8.2020 md;W jpUk;g nrYj;jpdhh;. 
5% tPjk; tl;b fzf;fplg;gl;lhy; mth; nrYj;jpa njhif vt;tsT? 
a. ₹4000  b. ₹4004    c. ₹4040   
d. ₹4400  e. tpil njhpatpy;iy 

  
29. What will be the ratio of simple interest earned by certain amount at the same rate of 

interest for 6 years and that for 9 years? 
a. 1 : 3   b. 1 : 4     c. 2 : 3   
d. 2 : 5   e. Answer not known 
6 Mz;LfSf;Fk;> 9 Mz;LfSf;Fk; xNu tl;b tpfpjj;jpy; Fwpg;gpl;l njhifahy; 
<l;lg;gLk; jdp tl;bapd; tpfpjk; fhz;f 
a. 1 : 3   b. 1 : 4     c. 2 : 3   
d. 2 : 5   e. tpil njhpatpy;iy 

 

30. In simple interest, a sum of money amounts to ₹6,200 in 2 years and ₹6,800 in 3 years. Find 
the rate of interest. 
a. 8%   b. 10%  c. 12%  d. 14%   e. Answer not known 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; ₹6>200 vdTk;> 3 Mz;Lfspy; 
₹6>800 vdTk; cah;fpwJ vdpy; tl;b tPjj;ij fhz;f 
a. 8%   b. 10%  c. 12%  d. 14%   e. tpil njhpatpy;iy 

 
31. Match the following 

A. Ibn Battuta   1. Morocco 
B. Nicolo Conti   2. Italy 
C. Abdur Razzaq   3. Persia 
D. Domingo Paes   4. Portugal 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
nghUj;Jf 
A. ,gd;gJ}jh   1. nkhuhf;Nfh 
B. epf;NfhNyh Nfhz;b  2. ,j;jhyp 
C. mg;Jh; urhf;   3. ghurPfk; 
D. Nlhkpq;Nfh ga];   4. Nghh;r;Rf;fy; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
 

32. How many pairs are correctly matched? 
I. Vijayalaya  - Revival of Chola dynasty 
II. Raja Raja I  - Brihadeshwara temple 
III. Raja Raja II  - Gangai Konda Cholapuram 
IV. Rajendra I  - Gangai Kondan 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
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fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. tp[ahyad; - Nrho tk;rj;ij kPl;nlor; nra;jhh; 
II. Kjyhk; ,uh[uh[d; - gpufjP];tuh; Nfhtpy 
III. ,uz;lhk; ,uh[uh[d; - fq;if nfhz;l NrhoGuk; 
IV. Kjyhk; ,uhN[e;jpud; - fq;if nfhz;lhd; 
a. Xh; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 

 d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 
33. Choose the correct statements about Rajendra Chola I 

I. He proclaimed himself the Gangai Kondan  
II. The Gangai Konda Cholapuram temple was built to commemorate his victories in 

East India 
III. The navy of Rajendra Chola enabled him to conquer the kingdom of Srivijaya 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
Kjyhk; ,uhN[e;jpu Nrhod; gw;wpa rhpahd $w;Wfisf; fz;lwpf 
I. fq;if nfhz;lhd; vd;W jd;idg; gpufldg;gLj;jpf; nfhz;lhh; 
II. fpof;F ,e;jpag; Nghh;fspy; ngw;w ntw;wpapd; epidthf fq;if nfhz;l NrhoGuk; 

Nfhtpiy vOg;gpdhh; 
III. uhN[e;jpu Nrhodpd; flw;gil =tp[ag; Nguuirf; ifg;gw;w mtUf;Fj; 

JizGhpe;jJ. 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

34. The Vijayalaya line of Chola rule was ended with the death of 
a. Veera Rajendra  b. Athirajendra  c. Rajaraja II 
d. Rajendra III  e. Answer not known 
tp[ahyadpd; topte;Njhhpd; Ml;rp ________ ,wg;NghL KbTf;F te;jJ 
a. tPu ,uhN[e;jpud;  b. mjp ,uhN[e;jpud; c. ,uz;lhk; ,uh[uh[d; 
d. %d;whk; ,uhN[e;jpud; e. tpil njhpatpy;iy 
 

35. Choose the correct sequence of the administrative division of the Later Cholas 
a. Mandalams > Naadus > Kurrams > Gramam 
b. Naadus > Mandalams > Gramam > Kurrams 
c. Naadus > Kurrams > Mandalams > Gramam 
d. Mandalams > Kurrams > Naadus > Gramam 
e. Answer not known 
gpw;fhy Nrho fhyj;jpd; eph;thfg;gphptpidiag; nghUj;J rhpahf mike;jijj; Njh;f 
a. kz;lyq;fs; > ehLfs; > $w;wq;fs; > fpuhkk; 
b. ehLfs; > kz;lyq;fs; > fpuhkk; > $w;wq;fs; 
c. ehLfs; > $w;wq;fs; > kz;lyq;fs; > fpuhkk; 
d. kz;lyq;fs; > $w;wq;fs; > ehLfs; > fpuhkk; 
e. tpil njhpatpy;iy 

 
36. How many pairs are correctly matched? 

I. Urar – Land holders 
II. Sabhaiyar – Brahman villages 
III. Nagarattar – Settlement of traders 
IV. Nattar – Assembly of Nagaram 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
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fPo;f;fz;ltw;Ws; rhpahf nghUe;jpa ,izfs; vj;jid? 
I. Cuhh; - epy clikahsh;fs; 
II. rigahh; - gpuhkzh; fpuhkq;fs; 
III. efuj;jhh; - tzpfh;fspd; FbapUg;Gfs; 
IV. ehl;lhh; - efuj;jpd; mit 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

37. Choose the qualification for members of village sabha that mentioned in the Uttiramerur 
inscription 
I. Men and women in the age group of 35-70 
II. Well versed in vedic texts and scriptures 
III. Possession of own land and house 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
cj;jpuNk&h; fy;ntl;by; fpuhk rig cWg;gpdh;fSf;fhd jFjpfshf 
nfhLf;fg;gl;litfspy; rhpahdij Njh;e;njL 
I. Nghl;bapLk; Mz;fs; kw;Wk; ngz;fs; 35-70 taJ tuk;Gf;Fs; ,Uj;jy; Ntz;Lk; 
II. NtjE}y;fspYk; rkaE}y;fspYk; Njh;r;rp ngw;wpUf;f Ntz;Lk; 
III. epy chpikahsuhfTk; nrhe;jtpL cilatuhfTk; ,Uf;f Ntz;Lk;. 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;    d. tpil njhpatpy;iy 
 

38. How many pairs are correctly matched? 
I. Devedana villages - Temples 
II. Pallichandam - Jain institutions 
III. Ulukudi  - Land owners of vellanvagai 
IV. Brahmadeya  - Land grants to Brahmins 
a. One pair   b. Two pairs   c. Three pairs  
d. Four pairs   e. Answer not known  
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. Njtjhd fpuhkq;fs; - Nfhtpy;fs; 
II. gs;spr;re;jk;  - rka rka epWtdq;fs; 
III. cOFb  - Ntshz;tif epyj;jpd; cilikahsh;fs; 
IV. gpuk;kNjak;  - gpuhkzh;fSf;F jhdkhf toq;fg;gl;l epyq;fs; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

39. How many pairs are correctly matched? 
I. Ennayiram  - Villupuram 
II. Uttiramerur  - Kanchipuram 
III. Tirubuvanai  - Near Puducherry 
IV. Thirumukkoodal - Near Chengalpattu 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. vz;zhapuk;  - tpOg;Guk; 
II. cj;jpuNk&h;  - fhQ;rpGuk; 
III. jpUGtid  - ghz;br;Nrhpf;F mUfpy; 
IV. jpUKf;$ly;  - nrq;fy;gl;Lf;F mUfpy; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
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40. In the period of later Cholas, the trade guild Anjuvannattar comprised 
I. East Asians   II. Arabs   III. Jews 
IV. Christians  V. Muslims  
a. I, II, III   b. II, III, IV, V   c. I, IV, V 
d. All of these  e. Answer not known  
gpw;fhy Nrhoh;fs; fhyj;jpy; mQ;R tz;zj;jhh; vDk; tzpff;FO mikg;gpy; ,Ue;jth;fs; 
I. fpof;F Mrpah;fs;  II. mNugpah;fs;  III. A+jh;fs; 
IV. fpwpj;jth;fs;  V. ,];yhkpah;fs; 
a. I, II, III   b. II, III, IV, V   c. I, IV, V 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

41. The donor of the Velvikkudi copper plates was 
a. Sadayavarman Sundarapandyan b. Virapandyan  c. Varaguna I  
d. Varaguna II    e. Answer not known 
Nts;tpf;Fb nrg;Ngl;bd; nfhilahspahf mwpag;gLgth; 
a. rilath;kd; Re;jughz;bad;  b. tPughz;bad;  c. Kjyhk; tuFzd;  
d. ,uz;lhk; tuFzd;   e. tpil njhpatpy;iy 
 

42. Arrange the following in chronological order 
I. Malik Kafur’s invasion to Madurai 
II. Vira Pandyan appointed as co-regent 
III. Killing of Maravarman Kulasekaran 
IV. Sundarapandyan fled to Delhi 
a. III, IV, I, II   b. III, II, I, IV   c. II, III, IV, I 
d. II, III, I, IV   e. Answer not known 
gpd;tUtdtw;iwf; fhythpirg;gLj;Jf 
I. khypf;fg+hpd; kJiug; gilnaLg;G 
II. tPughz;bad; $l;L muruhf epakpf;fg;gLjy; 
III. khwth;kd; FyNrfud; nfhy;yg;gLjy; 
IV. Re;jughz;bad; nly;ypf; tpiue;J XLjy; 
a. III, IV, I, II   b. III, II, I, IV   c. II, III, IV, I 
d. II, III, I, IV   e. tpil njhpatpy;iy 
 

43. Consider the following 
Assertion (A): In Madurai, a Muslim state subordinate to the Delhi Sultan came to be 
established 
Reason (R): After Malik Kafur’s invasion, the Pandyan Kingdom came to be divided 
among a number of Kings from the main ruling Pandya’s family 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true and R false 
d. A false and R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): kJiuapy; nly;yp Ry;jhDf;Ff; fl;Lg;gl;l xU K];yPk; muR cUthf;fg;gl;lJ 
fhuzk; (R): khypf;fg+hpd; gilnaLg;Gf;Fg; gpd;dh; Ml;rp nra;J nfhz;bUe;j mur 
FLk;gj;ijr; Nrh;e;j gy murh;fshy; ghz;ba ehL gphpj;Jf;nfhs;sg;gl;lJ. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
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44. How many pairs are correctly matched? 
I. Mangalam – Brahmin settlements 
II. Bumiputtirar – Actual landowning groups 
III. Nattumakkal – historically local people in the region 
IV. Cittirameli periyanattar – communal assembly of nattumakkal 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. kq;fyk; - gpuhkzh;fspd; FbapUg;Gfs; 
II. g+kpGj;jpuh;fs; - epyj;jpd; cz;ikahd cilikahsh;fs; 
III. ehl;Lkf;fs; - tuyhw;WhPjpahf mg;gFjpiar; Nrh;e;j kf;fs; 
IV. rpj;jpuNkop nghp ehl;lhh; - ehl;L kf;fspd; xd;wpize;j r%f kd;wk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
e. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

45. In the 12th century A.D. The Muslim rule in India was established by 
a. Muhammad Ghazni  b. Muhammad Ghori  c. Qutbuddin Aibak 
d. Iltumish    e. Answer not known 
fp.gp.12Mk; E}w;whz;by; ,e;jpahtpy; ,];yhkpah; Ml;rpia epWtpath; 
a. KfkJ f[pdp   b. KfkJ Nfhhp   c. Fj;Gjpd; Igf; 
d. ,y;Jkp~;    e. tpil njhpatpy;iy 
 

46. Choose the correct statements about Bandagan 
I. It was nurtured as special slaves by Muhammad Ghori 
II. Bandagan a Persian term used for slaves purchased for military services 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
gz;lfd; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ,jid KfkJ Nfhhp jdptif mbikfshfg; Ngzpdhh; 
II. gz;lfd; vd;w ghurPfr; nrhy;ypd; nghUs; ,uhZtg; gzpf;fhf tpiyf;F 

thq;fg;gl;l mbikfs; vd;gjhFk; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

47. Which of the following statements are true? 
I. Qutbuddin Aibak began his rule by establishing Lahore as the capital of his 

kingdom 
II. Qutbuddin Aibak built the Quwwat-ul-Islam Mosque in Delhi 
a. I only   b. II only    c. both I and II 
d. None of these  e. Answer not known 
fPo;f;fz;l $w;Wfspy; rhpahdit vit? 
I. Fj;GjPd; Igf; yh$iuj; jiyefuhff; nfhz;L jdJ Ml;rpiaj; njhlq;fpdhh; 
II. Fj;GjPd; Igf; nly;ypapy; Ft;tj;-cy;-,];yhk; vDk; k#jpiaf; fl;bdhh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

48. Who among the following rulers of slave dynasty shifted his capital from Lahore to Delhi? 
a. Mohammad Ghori  b. Qutbuddin Aibak  c. Iltumish 
d. Sultana Razia   e. Answer not known 
gpd;tUk; mbik tk;r Ml;rpahsh;fspy; ahh; jdJ jiyefiu yh$hpypUe;J nly;ypf;F 
khw;wpaJ? 
a. KfkJ Nfhhp   b. Fj;GjPd; Igf;   c. ,y;Jkp~; 
d. Ry;jhdh urpah   e. tpil njhpatpy;iy 
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49. Choose the correct statements about Iqtas 
I. Iqta is the land granted to army officials in lieu of a regular wage 
II. The iqta holder is called the Iqtadar or Muqti who had to provide the sultan with 

military assistance in time of war 
III. The Iqtadar collected revenue from his Iqta to meet the cost of maintaining his 

troops and horses. 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
,f;jhf;fs; gw;wpa rhpahd $w;wfisj; Njh;e;njL 
1. ,f;jh vd;gJ uhZt mjpfhhpfSf;F toq;fg;gl Ntz;ba Cjpaj;jpw;fhf 

nfhLf;fg;gl;l epykhFk; 
2. epyj;ijg; ngw;wth; ,f;jhjhh; my;yJ Kf;jp vd;wiof;fg;gl;lhh;. ,th; Nghh;f;fhyq;fspy; 

Ry;jhDf;F uhZt cjtpfs; nra;a Ntz;Lk; 
3. jdJ gilfisAk; FjpiufisAk; guhkhpg;gjw;fhf ,f;jhjhh; jdf;F toq;fg;gl;l 

epyq;fspypUe;J thpt#y; nra;Jnfhs;thh; 
a. 1> 2  b. 1> 3 c. 2> 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

50. How many pairs are correctly matched? 
I. Balban – abolition of the forty nobles 
II. Tughri Khan – provincial Governor of Sind 
III. Iltumish – Establishment of department of spies 
IV. Hulagukhan – Grand son of Chengiz Khan 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. ghy;gd; - ehw;gjpd;gh; gpuGf;fs; xopf;fg;gLjy; 
II. Jf;hpy;fhd; - rpe;J khfhz MSeh; 
III. ,y;Jkp~; - xw;wh;fs; Jiw epWtg;gLjy; 
IV. FyFfhd; - nrq;fp];fhdpd; Ngud; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

51. Choose the correct statements 
I. In 1303, Alauddin’s army over whelmed the Rajput army in Chittor and in the 

context of threat of defeat, the men and women of the fortress performed the rite of 
Jauhar 

II. According to the custom of Jauhar, left with no other way to survive, the men 
would go out and die in the field of battle and women would burn themselves on a 
pyre. 

a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known  
rhpahd $w;Wfisj; Njh;T nra;f 
I. 1303Mk; Mz;L rpj;J}hpy; uh[Gj;jpug; gilfis myhTjPdpd; gilfs; jpzwbj;j 

epiyapy; Njhy;tpaile;JtpLNthk; vd;w #oypy; Nfhl;ilf;Fs; ,Ue;j MltUk; 
ngz;bUk; [t;`h; vdg;gLk; rlq;if elj;jpdh; 

II. [t;`h; vDk; rlq;Fg;gb Mlth; Nghl;ilia tpl;L ntspNawpg; Nghh;f;fsj;jpy; 
khs;th;. ngz;fs; jPg;GFe;J jq;fis kha;j;Jf; nfhs;th; 

a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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52. How many pairs are correctly matched? 
I. Devagiri    - Yadavas 
II. Warangal   - Kakatiyas 
III. Dwarasamudra  - Hoysalas 
IV. Madurai   - Pandyas 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 

 fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. Njtfphp   - ahjth;fs; 
II. thuhq;fy;   - fhfjpah;fs; 
III. JthurKj;jpuk;  - n`ha;rhsh;fs; 
IV. kJiu    - ghz;bah;fs; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
53. Choose the correct statements about Muhammad Bin Tughlaq 

I. He shifted his capital from Delhi to Devagiri 
II. He also renamed the Devagiri into Tughlaqabad 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known  
KfkJ gpd; Jf;sf; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. jdJ jiyefiu nly;ypapypUe;J Njtfphpf;F khw;wpdhh; 
II. ,th; Njtfphpapd; ngaiu Jf;sfhghj; vd khw;wpdhh; 
a. I kl-;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
54. Arrange the following in chronological order 

I. Foundation of Tughlaq dynasty 
II. Died of Muhammad Bin Tughlaq 
III. Madurai became Independent Sultanate 
IV. Bengal became independent 
a. I, II, III, IV  b. I, III, IV, II   c. I, IV, III, II 
d. I, II, IV, III  e. Answer not known 
gpd;tUk; epfo;Tfis fhythpirg;gLj;Jf 
I. Jf;sf; tk;rk; epWtg;gLjy; 
II. KfkJfhd; Jf;sf;fpd; ,wg;G 
III. kJiu jdp Ry;jhdpakhf cUthjy; 
IV. tq;fhsk; Rje;jpukhdJ 
a. I, II, III, IV  b. I, III, IV, II   c. I, IV, III, II 
d. I, II, IV, III  e. tpil njhpatpy;iy 
 

55. Who refused to accept an invitation from a Bahmani Prince to intervene in the affairs of 
the Deccan in 1365? 
a. Ghiyasudding Tughlaq  b. Muhammad Bin Tughlaq 
c. Firoz Shah Tughlaq  d. Muhammad Khan 
e. Answer not known 
1365,y; jf;fhzg; gpur;ridfspy; jiyapl Ntz;Lk; vdf;Nfl;L ghkpdp ,sturh; tpLj;j 
miog;ig Vw;f kWj;jth; ahh;? 
a. fpahRjPd; Jf;sf;   b. KfkJ gpd; Jfsf;  c. gpNuh~h Jf;sf; 
d. KfkJ fhd;   e. tpil njhpatpy;iy 
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56. Arun lent ₹5,000 to Balaji for 2 years and ₹3,000 to Charles for 4 years on simple interest at 

the same rate of interest and received ₹2,200 in all from both of them as interest. Find the 
rate of interest per year. 
a. 3%  b. 5%  c. 8%  d. 10% e. Answer not known 
mUz; vd;gth; ghyh[p vd;gtUf;F ₹5>000 I 2 Mz;LfSf;Fk; rhh;y]; vd;gtUf;F ₹3>000 
I 4 Mz;LfSf;Fk; xNu jdptl;b tPjj;jpy; toq;fpdhh;. Mf nkhj;jkhf ₹2>200 I 
tl;bahf mUs; ngw;whh; vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 3%  b. 5%  c. 8%  d. 10% e. tpil njhpatpy;iy 

 
57. Two equal sum of money were lent at simple interest at 11% p.a for 3 ½ years and 4 ½ 

years respectively. If the difference in interest for two periods was ₹412.50, then each sum 
is  
a. ₹3250  b. ₹3500    c. ₹3750   
d. ₹4250  e. Answer not known 
,U rk njhiffs; 3½ Mz;Lfs; kw;Wk; 4½ Mz;LfSf;F KiwNa Mz;Lf;F 11% 
vd;w jdptl;b tPjj;jpy; fldhf toq;fg;gl;lJ. ,uz;bw;Fkhf tl;b tpj;jpahrk; ₹412.50 
vdpy;> mj;njhiffspd; kjpg;G 
a. ₹3250  b. ₹3500    c. ₹3750   
d. ₹4250  e. tpil njhpatpy;iy 

 

58. Riya bought ₹ 15,000 from a bank to buy a car at 10% simple interest. If she paid ₹ 9,000 as 
interest while clearing the loan, find the time for which the loan was given. 
a. 5 years  b. 6 years   c. 7 years    
d. 8 years  e. Answer not known 
upah vd;gth; kfpOe;J thq;Ftjw;fhf Rs.15000 I 10% jdptl;b vd;w tPjj;jpy; fldhfg; 
ngw;whh;. mth; Rs.9>000 If; flid Kbf;Fk; jUthapy;> tl;bahfr; nrYj;jpdhh; vdpy;> 
flidg; gad;gLj;jpa fhyj;ijf; fzf;fpLf. 
a. 5 Mz;Lfs;  b. 6 Mz;Lfs;  c. 7 Mz;Lfs; 
d. 8 Mz;Lfs; e. tpil njhpatpy;iy 

 
59. A sum of money triples itself at 8 % per annum over a certain time. Find the number of 

years. 
a. 15 years  b. 18 years    c. 25 years   
d. 37 years  e. Answer not known 
xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W klq;fhFk; vdf; 
fhz;f? 
a. 15 Mz;Lfs; b. 18 Mz;Lfs;   c. 25 Mz;Lfs; 
d. 37 Mz;Lfs; e. tpil njhpatpy;iy 

 

60. A sum of money becomes 
9

5
of itself in 5 years on simple interest. Find the rate of interest.  

a. 10%  b. 12%  c. 19%  d. 16% e. Answer not known 
xU Fwpg;gpl;l njhifahdJ jdp tl;b tpfpjj;jpy; 5 Mz;Lfspy; 9/5 klq;fhfpwJ vdpy;> 
tl;b tPjj;ij fz;lwpaTk;. 
a. 10%  b. 12%  c. 19%  d. 16% e. tpil njhpatpy;iy 

 
61. Choose the correctly matched pairs 

I. Khizr Khan – Founder of Sayyid dynasty 
II. Timur – Plundered Delhi in 1310 
III. Bahlol Lodi – Governor of Punjab 
IV. Alauddin Alam Shah – last ruler of Sayyid dynasty 
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a. I, II, III   b. II, III, IV    c. I, III, IV   
d. All of these  e. Answer not known 
rhpahf nghUe;jpa ,izfis fz;lwpf 
I. fprph;fhd; - iraJ tk;rj;ij epWtpath; 
II. ij%h; - 1310,y; nly;ypia nfhs;isabj;jhh; 
III. gfY}y; Nyhb – gq;rhg; MSeh; 
IV. myhTjPd; Myk; ~h – iraJ tk;rj;jpd; filrp murh; 
a. I, II, III   b. II, III, IV    c. I, III, IV   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

62. Arrange the following rulers in chronological order 
I. Alauddin Alam Shah II. Bahlol Lodi  
III. Sikandar Lodi  IV. Ibrahim Lodi 
a. I, II, III, IV  b. I, III, II, IV   c. II, I, III, IV 
d. III, II, I, IV   e. Answer not known 
gpd;tUk; Ml;rpahsh;fisf; fhythpirg;gLj;Jf 
I. myhTjPd; Myk;~h II. gfY}y; Nyhb 
III. rpf;fe;jh; Nyhb  IV. ,g;uhfpk; Nyhb 
a. I, II, III, IV   b. I, III, II, IV   c. II, I, III, IV 
d. III, II, I, IV   e. tpil njhpatpy;iy 
 

63. Choose the correct statements 
I. Sikandar Lodi founded the city of Agra and made it his capital 
II. Ibrahim Lodi was defeated by Babur in 1526 in the Panipat battle 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. rpf;fe;jh; Nyhb Mf;uh efiu eph;khzpj;J me;efiuj; jiyefh; Mf;fpdhh; 
II. ,g;uhfpk; Nyhb ghguhy; 1526,y; ghdpgl; Nghh;f;fsj;jpy; Njhw;fbf;fg;gl;lhh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

64. Arrange the following rulers in a chronological order 
I. Babur   II. Jahangir  III. Akbar 
IV. Humayun  V. Shahjahan  VI. Aurangazeb 
a. I, II, III, IV, V, VI  b. I, IV, III, II, V, VI c. I, III, IV, V, II, VI 
d. I, II, IV, III, V, VI  e. Answer not known 
gpd;tUk; Ml;rpahsh;fisf; fhythpirg;gLj;Jf 
I. ghgh;   II. [`hq;fPh;  III. mf;gh; 
IV. P̀kha+d;   V. ~h[fhd;  VI. xsuq;frPg; 
a. I, II, III, IV, V, VI  b. I, IV, III, II, V, VI c. I, III, IV, V, II, VI 
d. I, II, IV, III, V, VI  e. tpil njhpatpy;iy 
 

65. Who was arrived in Kabul to seek Babur’s help in removing Ibrahim Lodi from power? 
a. Dilawar Khan   b. Alamkhan   c. Sikandar Lodi 
d. Both a and b   e. Answer not known 
nly;yp Ry;jhd; ,g;uhfpk; Nyhbiag; gjtpia tpl;L ePf;f> ghghpd; cjtpiaf; Nfl;L fhg+y; 
te;jth; ahh;? 
a. jpyhthh;fhd;   b. Myk;fhd;   c. rpf;fe;jh; Nyhb 
d. a kw;Wk; b ,uz;Lk;  e. tpil njhpatpy;iy 
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66. How many pairs are correctly matched? 
I. First Battle of Panipat – Ibrahim Lodi and Babur 
II. Battle of Khanwa  - Ranasanga and Babur 
III. Battle of Chanderi – Medini Rai and Babur 
IV. Battle of Gaghra – Babur and Nusratshah 
a. One pair   b. Two pairs   c. Three pairs 
d. four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. Kjy; ghdpgl; Nghh; - ,g;uhfpk; Nyhb kw;Wk; ghgh; 
II. fd;th Nghh; - uhzh rq;fh kw;Wk; ghgh; 
III. re;Njhp Nghh; - Nkjpdpuha; kw;Wk; ghgh; 
IV. fhf;uhNghh; - ghgh; kw;Wk; e];uj;~h 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

67. Arrange the following battles in a chronological order 
I. Battle of Khanwa  II. First battle of Panipat 
III. Battle of Gaghra  IV. Battle of Chanderi 
a. I, II, III, IV  b. II, I, IV, III   c. II, I, III, IV  
d. II, IV, I, III  e. Answer not known 
fPo;f;fz;l Nghh;fis fhythpirg;gLj;Jf 
I. fd;th Nghh;  II. Kjy; ghdpgl; Nghh; 
III. fhf;uh Nghh;  IV. re;Njhp Nghh; 
a. I, II, III, IV  b. II, I, IV, III   c. II, I, III, IV  
d. II, IV, I, III  e. tpil njhpatpy;iy 

 
68. Choose the correct statements about Shershah 

I. During his brief reign, he built an empire stretching from Bengal to the Indus, 
excluding Kashmir 

II. He introduced an efficient land revenue system 
III. He built many roads, and standardized coins, weights and measures. 
a. I, II  b. I, III  c. II, III d. All of these e. Answer not known 
n~h;~h gw;wpa rhpahd $w;Wfisj; Njh;f 
I. jkJ FWfpa fhy Ml;rpapy; tq;fhsk; Kjy; rpe;Jtiu fh~;kPh; ePq;fyhf 

gutpapUe;j xU Nguuir cUthf;fpdhh; 
II. ey;y gaidj; jUk; xU epytUtha; Kiwapid mwpKfk; nra;jhh; 
III. ehzaq;fisAk; epWj;jy;> Kfj;jy; msitfisAk; ju msTg;gLj;jpdhh; 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
69. Choose the incorrect statement/s 

I. Hemu, a general of sur dynasty, captured Agra and Delhi in 1555 
II. Bairam Khan defeated and killed Hemu in the second battle of Panipat in 1556 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
jtwhd $w;Wfisj; Njh;f 
I. #h;tk;rj;ijr; Nrh;e;j n`K vd;Dk; jsgjp 1555,y; nly;ypiaAk; Mf;uhitAk; 

ifg;gw;wpf; nfhz;lhh; 
II. iguhk;fhk; 1556 Mk; Mz;by; ,uz;lhk; ghdpgl; Nghhpy; n`Kit Njhw;fbj;Jf; 

nfhd;whh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
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70. Choose the correctly matched pairs regarding the boundaries of Mughal Empire under 
Akbar’s reign 
I. North - Kashmir 
II. South - Kaveri river 
III. West - Kandahar 
IV. East - Bengal 
a. I, II, III  b. II, IV c. I, III, IV d. All of these e. Answer not known 
mf;gh; Ml;rpf;fhyj;jpy; ,Ue;j Kfyhag; Nguurpd; vy;iyfs; Fwpj;J rhpahfg; nghUe;jpa 
,izfs; vit? 
I. tlf;F - fh~;kPh;  
II. njw;F – fhNthp MW 
III. Nkw;F – fhe;jfhh; 
IV. fpof;F – tq;fhsk; 
a. I, II, III  b. II, IV c. I, III, IV d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

71. Who was gifted a plot of land in Amritsar from Akbar where the sikh Shrine Harmandir 
Sahib was built later? 
a. Guru Ramdas   b. Guru Dayal Das  c. Guru Arjan Singh 
d. Guru Tej Bahadur  e. Answer not known 
ahUf;F mkph;j rurpy; mf;gh; ghprhf toq;fpa ,lj;jpy;jhd; gpd;dh; `h;kpe;jh; rhfpg; 
fUtiw fl;lg;gl;lJ? 
a. FU uhk;jh];   b. FU jahs; jh];  c. FU mh;[{d; rpq; 
d. FU Nj[; gfJ}h;   e. tpil njhpatpy;iy 
 

72. Choose the incorrectly matched pair 
a. Birbal – Storyteller   b. Tansen – Great composer and Musician 
c. Daswant – Artist   d. None of the above 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
a. gPh;ghy; - fij Mrphpah;  b. jhd;nrd; - ghlyhrphpah; kw;Wk; ,irNkij 
c. j~;te; - Xtpah;   d. Nkw;$wpa VJkpy;iy 
e. tpil njhpatpy;iy 
 

73. Choose the correct statements 
I. Jahangir granted trading rights to the Portuguese and later to the English 
II. William Hawkins a representative of King James I of England, visited Jahangir’s 

court  
III. British established their first factory at Surat 
a. I, II  b. I, III c. II, III c. I, II, III  d. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. [`hq;fPh; Nghh;j;Jf;fPrpaUf;Fk; gpd;dh; Mq;fpNyah;fSf;Fk; tzpf chpikfis 

toq;fpdhh; 
II. ,q;fpyhe;J murh; Kjyhk; N[k;rpd; gpujpepjpahd tpy;ypak; `hf;fpd;]; [`hq;fPhpd; 

muritf;F tUif Ghpe;jhh;. 
III. Mq;fpNyah;fs; jq;fs; Kjy; tzpf ikaj;ij #uj;jpy; epWtpdh;. 
a. I, II  b. I, III c. II, III c. I, II, III  d. tpil njhpatpy;iy 

  

74. Choose the correct statements about Aurangazeb 
I. He assumed the title Alamgir 
II. He tolerated no religion excepting Islam 
III. He re-imposed the Jizya tax on Hindu 
a. I, II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
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xsuq;frPg; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. Myk;fPh; vd;Dk; gl;lj;ij #l;bf;nfhz;lhh; 
II. ,];yhkpa kjj;ijj;jtpu Vida kjq;fis mth; rfpj;Jf;nfhs;stpy;iy 
III. ,e;Jf;fspd; kPJ kPz;Lk; [prpah thpia tpjpj;jhh; 
a. I, II  b. I, III  c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

75. How many pairs are correctly matched? 
I. Wakil - Prime Minister 
II. Wazir - Incharge of the revenue and expenditure 
III. Mirbakshi  - Incharge of the army 
IV. Mirsaman  - Looked after royal household 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. tf;fPy; - gpujk ke;jphp 
II. t[Ph;  - tUtha;j;Jiw kw;Wk; nryTfspd; nghWg;ghsh; 
III. kPh;ghf;rp - ,uhZtj;Jiw mikr;rh; 
IV. kPh;rkhd; - muz;kid eph;thfj;ij ftdpg;gth; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

76. How many pairs are correctly matched? 
I. Subhas  - Provinces 
II. Sarkars - Districts 
III. Parganas - Group of villages 
IV. Kotwals - Administrator of towns and cities 
a. One pair   b. Two pairs    c. Three pairs 
d Four pairs   e. Answer not known 
gpd;tUtdtw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. Rghf;fs;  - khfhzq;fs; 
II. rh;f;fhh;fs;  - khtl;lq;fs; 
III. gh;fhzhf;fs;  - fpuhkq;fspd; njhFg;G 
IV. nfhj;jthy;  - efu kw;Wk; ngUefu eph;thfpfs; 
a. xU ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
77. Choose the correct statements about Mansabdari system 

I. According to this system the Nobles, civil and military officials were combined to 
form one single service 

II. Mansabdar rank was dependent on Zat and Sawar 
III. Zat was the number of horses and horsemen he had to maintain 
a. I, II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
kd;rg;jhhp Kiw gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,k;Kiwapd; fPo; gpuGf;fs;> uhZt mjpfhhpfs; Fbikg;gzp mjpfhhpfs; MfpNahhpd; 

gzpfs; xd;W Nrh;f;fg;gl;L xNu gzpahf khw;wg;gl;ld 
II. kd;rg;jhh; rhl;> rthh; vDk; ,U tplaq;fisr; rhh;e;jpUe;jd 
III. rhl; vd;gJ xU kd;rg;jhh; guhkhpf;f Ntz;ba Fjpiufs;> FjpiutPuh;fspd; 

vz;zpf;ifiaf; Fwpg;gjhFk;. 
a. I, II  b. I, III  c. II, III d. I, II, III  e. tpil njhpatpy;iy 
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78. Choose the correct statement regarding land revenue administration of Mughals 
I. Land revenue administration was toned up during the reign of Akbar 
II. Raja Mansingh, Revenue Minister of Akbar, adopted and refined the system 

introduced by Shershah 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
Kfyhah;fspd; epytUtha; eph;thfk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. mf;ghpd; Ml;rpapd; NghJ epytUtha; eph;thfk; rPuikf;fg;gl;lJ 
II. mf;ghpd; tUtha;j;Jiw mikr;ruhd uh[hkhd; rpq; n~h;~h mwpKfk; nra;j 

Kiwiag; gpd;gw;wpdhh;. mk;Kiwia NkYk; rPh; nra;jhh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

79. Choose the correct statements about Jagirdar system 
I. Under the system, the collection of the revenue of an area and the power of 

governing were bestowed upon a military or civil official named jagirdar 
II. Every Mansabdar was a jagirdar if he was not paid in cash 
III. The Jagirdar collected the revenue through his own officials 
a. I, II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
[hfPh;jhh; Kiw gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,k;Kiwapd; fPo; Fwpg;gpl;l xU gFjpapy; epythp t#y; nra;Ak; nghWg;Gk; 

mg;gFjpia eph;tfpf;Fk; nghWg;Gk; ,uhZt my;yJ rptpy; mjpfhhp 
xg;gilf;fg;gl;lJ ,tNu [hfPh;jhh; Mth; 

II. jq;fsJ Cjpaj;ijg; gzkhf ngwhj xt;nthU kd;rg;jhUk; [hfPh;jhh; Mthh; 
III. [hfPh;jhh; jk; mjpfhhpfs; %yk; epythpia t#y; nra;jhh; 
a. I, II  b. I, III c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

80. During the Mughal period the revenue collector of the district was 
a. Potdar   b. Qanungo   c. Muqaddams 
d. Amal Guzar  e. Answer not known 
Kfyhah; fhyj;jpy; khtl;l mstpyhd thpt#y; mjpfhhp 
a. nghl;lhjhh;   b. fDq;Nfh   c. Kf;fhjk; 
d. mkpy; F[hh;  e. tpil njhpatpy;iy 
 

81. Which of the following were built during Akbar’s time? 
i. Diwan-i-khas   ii. Diwan-i-Am   iii. Panch Mahal 
iv. Salim Chishtis tomb  v. Buland Darwasa 
a. i, ii, iii   b. ii, iii, v    c. i, ii, iv, v   
d. All of these  e. answer not known 
gpd;tUtdtw;Ws; mf;gh; fhyj;jpy; fl;lg;gl;lit vit? 
i. jpthd;-,-fh];   ii. jpthd;-,-Mk;   iii. gQ;r;k`hy; 
iv. ryPk; rp];bapd; fy;yiw  v. Gye;jh;thrh 
a. i, ii, iii   b. ii, iii, v    c. i, ii, iv, v   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
82. The beautiful building containing the tomb of Itmad-ud-daula at Agra was built by 

a. Akbar   b. Jahangir    c. Shahjahan 
d. Aurangazeb  e. answer not known 
Mf;uhtpYs;s cj;-njsyhtpd; fy;yiwAld; $ba mofpa fl;blj;ijf; fl;bath;? 
a. mf;gh;   b. [`hq;fPh;   c. ~h[fhd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 
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83. Choose the correct statements 
I. Nammazhwar’s fame lies in his 1102 Stanza Thirumozhi 
II. Nathamuni collected the 4000 poems of periyazhwar in the form of Divya 

Prabandham 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. ek;kho;thh; mth; ,aw;wpa 1102 gj;jpfisf; nfhz;l jpUtha;nkhopahy; Gfo;ngw;whh; 
II. nghpaho;thhpd; 4000 ghly;fis ehyhapuk; jpt;tpag; gpuge;jk; vDk; ngahpy; ehjKdp 

njhLj;Js;shh; 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

84. Periyazhwar is said to have fond Andal as a baby in the Tulsi Garden at 
a. Srirangam   b. Kanchipuram   c. Mayilappur 
d. Srivilliputhur  e. Answer not known 
ve;j Nfhtpy; Jsrpj;Njhl;lj;jpy; nghpaho;thh; Mz;lhisf; Foe;ijahff; fz;nlLj;J 
jdJ Foe;ijahf Vw;Wf;nfhz;ljhf $wg;gLfpwJ? 
a. =uq;fk;   b. fhQ;rpGuk;    c. kapyhg;g+h; 
d =tpy;ypg;Gj;J}h;  e. tpil njhpatpy;iy 
 

85. Adi Shankara set up Mathas Centres of learning and worship at 
a. Badrinath   b. Puri    c. Dwaraka and Sringeri 
d. All of these  e. Answer not known 
Mjprq;fh; fw;gpf;Fk; kw;Wk; topghl;L ikakhfj; jpfOk; klq;fis epWtpa ,lk; 
a. gj;hpehj;   b. G+hp    c. Jthufh kw;Wk; rpUq;Nfhp 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

86. The simple interest on a sum of money is 
4

9
 of the principal. Find the rate percent and 

time, if both are numerically equal. 

a. 
2

5
3

%, 
2

5
3

years  b. 
2

7
3

%, 
2

7
3

 years  c. 
2

6
3

%, 
2

6
3

years  

d. 
1

6
3

%, 
1

6
3

 years  e. Answer not known 

xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
4

9
 klq;Ff;F rkk;. tl;btPjKk;> tUlKk; 

vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ tl;b tPjj;ijAk; tUlj;ijAk; fhz;. 

a. 
2

5
3

%, 
2

5
3

 Mz;Lfs; b. 
2

7
3

%, 
2

7
3

 Mz;Lfs;  c. 
2

6
3

%, 
2

6
3

 Mz;Lfs; 

d. 
1

6
3

%, 
1

6
3

 Mz;Lfs; e. tpil njhpatpy;iy 

 
87. Find the simple interest on Rs. 10,950 for 42 days at 10% p.a 

a. Rs.116  b. Rs. 74   c. Rs. 126   
d. Rs. 108  e. Answer not known 
&. 10>950 vd;w mrYf;F 42 ehl;fspy; Mz;bw;F 10% jdptl;b Kiwapy; fpilf;Fk; tl;b 
vt;tsT? 
a. Rs.116  b. Rs. 74   c. Rs. 126   
d. Rs. 108  e. tpil njhpatpy;iy 
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88. Imran deposits ₹400 per month in a post office as R.D. for 2 years. If the rate of interest is 
12%, find the amount he will receive at the end of 2 years. 
a. ₹10,800  b. ₹18,000   c. ₹10,080    
d. ₹10,880  e. Answer not known 
,k;uhd; Xh; mQ;ryfj;jpy; 12% tl;bapy; xt;nthU khjKk; Rs.400I 2 Mz;LfSf;Fr; 
nrYj;jp te;jhh;. ,uz;L Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; njhifiaf; fhzTk; 
a. ₹10,800  b. ₹18,000   c. ₹10,080    
d. ₹10,880  e. tpil njhpatpy;iy 

 
89. The rate of interest on a sum of money is 4% per annum for the first 2 years, 6% per 

annum for the next 4 years and 8% per annum for the period beyond 6 years. If the simple 
interest accrued by the sum for a total period of 9 years is Rs.1,120. What is the sum. 
a. Rs.1,500   b. Rs. 2,000   c. Rs. 2,500   
d. Rs. 4,000   e. Answer not known 
xU njhiff;fhd tUl tl;b Kjy; ,uz;L tUlj;jpw;F 4% MfTk; mLj;j ehd;F 
tUlj;jpw;F 6% MfTk; MW tUlq;fSf;F Nky; 8% MfTk; cs;sJ. xU Fwpg;gpl;l 
njhiff;fhd 9 tUl fhyj;jpw;fhd jdptl;b 1>120 vdpy; mj;njhifia fhz;. 
a. Rs.1,500   b. Rs. 2,000   c. Rs. 2,500   
d. Rs. 4,000   e. tpil njhpatpy;iy 

 

90. A man invested 
1

3
 of his capital at 3%, 

1

6
 at 6% and the remainder at 8%. If the simple 

interest for 2 years from all these investments amounts to Rs. 600. Then the original sum 
was 
a. Rs.2000   b. Rs. 3000   c. Rs. 4000   
d. Rs. 5000   e. Answer not known 

xUth; jdJ %yjdj;jpd; 
1

3
 klq;if 3% tl;bf;Fk;> 

1

6  
klq;if 6% tl;bf;Fk;> 

kPjj;njhifia 8% tl;bf;Fk; KjyPL nra;fpwhh;. mjd; %yk; mth; 2 Mz;LfSf;F &.600 
ngWfpwhh; vdpy; mth; KjyPL nra;j nkhj;j njhif vt;tsT?  
a. Rs.2000   b. Rs. 3000   c. Rs. 4000   
d. Rs. 5000   e. tpil njhpatpy;iy 
 

91. A temple for Lord Krishna on the Goverdhan Hills near Mathura built by 
a. Ramananda  b. Tukaram   c. Vallabharya 
d. Chaitanyadeva  e. Answer not known 
kJuhTf;F mUNf Nfhth;jd; Fd;Wfspy; fpU~;zgfthDf;F xU Nfhtpiy mikj;jth;? 
a. uhkhde;jh;   b. Jf;fhuhk;   c. ty;yghr;rhh;ah 
d. irjhd;a Njth  e. tpil njhpatpy;iy 
 

92. Choose the correct statements about Meerabhai 
I. She was wife of the crown prince of Mewar 
II. She was an ardent devotee of Lord Krishna 
III. She gained popularity through the bhajans 
a. I, II  b. I, III  c. II, III d. all of these e. Answer not known 
kPuhgha; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. Nkthh; ehl;bd; gl;lj;J ,sturhpd; kidtp 
II. fpU~;zgfthdpd; jPtpu gf;ij 
III. ,tUila g[d; ghly;fs; %yk; gpugykhdth; 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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93. Choose the correctly matched pairs 
I. Chaitanyadeva – Bengal 
II. Ramananda – Spreaded Bhakti ideologies in South India 
III. Tukaram – Maharashtra 
a. I, II  b. I, III  c. II, III d. I, II, III  e. Answer not known 
rhpahf nghUe;jpa ,izfis Njh;f 
I. irjd;aNjth; - tq;fk; 
II. uhkhde;jh; - gf;jp nfhs;iffis njd; ,e;jpahtpy; gug;gpath; 
III. Jf;fhuhk; - kfhuh~;buk; 
a. I, II  b. I, III  c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

94. Sufism was basically Islamic but influenced by the ideas of 
a. Hindu and Jains  b. Jains and Buddhists  c. Hindu and Buddhist 
d. Sikh and Hindu  e. Answer not known 
#gpap]k; mbg;gilapy; ,];yhkpaj;ijr; Nrh;e;jjhf ,Ue;jhYk; mjd;kPJ __________ 
rkaf; fUj;Jf;fspd; jhf;fj;ijg; ngw;wpUe;jJ 
a. ,e;J kw;Wk; rkz b. rkz kw;Wk; ngsj;j  c. ,e;J kw;Wk; ngsj;j 
d. rPf;fpa kw;Wk; ,e;J e. tpil njhpatpy;iy 
 

95. Choose the correct statements  
I. Moinuddin Chishti made Chishti order popular in India 
II. The best known Sufi sage of early medieval period was Nizamuddin Auliya 
III. Amir Khusru was one of the followers of Firdausi sect of Sufism 
a. I, II  b. I, III  c. II, III d. All of these   e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. nkha;DjPd; rp];b> rp];b mikg;ig ,e;jpahtpy; gpugykhf;fpdhh; 
II. ,ilf;fhyj;jpd; njhlf;fj;jpy; ed;fwpag;gl;bUe;j rp];b mikg;igr; rhh;e;j #gp> 

ep[hKjPd; mTypah 
III. mkPh;F];U #gpap]j;jpd; gph;njsrp gphpitg; gpd;gw;wpdhh;. 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

96. Sufism gained prominence during the reign of 
a. Rajputs   b. Marathas    c. Delhi  
d. Mughals   e. Answer not known 
#gpap]k; Kf;fpaj;Jtk; ngw;w Ml;rpf;fhyk; 
a. ,uh[Gj;jpuh;fs;  b. kuhj;jpah;fs;   c. nly;yp 
d. Kfyhah;fs;  e. tpil njhpatpy;iy 
 

97. Consider the following 
Assertion (A): The Gurunanak corridor was constructed by Indian Government that will 
link the Nanak shrine in Gurdaspur with Gurudwara Darbar Sahib at Kartarpur in 
Pakistan 
Reason (R): To commemorate the 500th birth anniversary of Gurunanak 
a. A and r are true and R is the correct explanation of A 
b. A and r are true and R is not the correct explanation of A 
c. A true R false 
d. A false R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): Fh;jh];g+hpYs;s ehdf;Nfhtpy;> ghfp];jhdpd; fh;jhh;g+hpy; cs;s FUj;thuh 
jh;ghh; rhfpg; ,uz;ilAk; ,izf;Fk; tifapy; ,e;jpa muR eilghij xd;iwf; 
fl;bAs;sJ. 
fhuzk; (R): ,J FUehdf;fpd; 500tJ gpwe;j ehis epidT$Wk; tifapy; epWtg;gl;lJ. 



 

24 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
 

98. Choose the correct statements about Bhakti Movement 
I. Bhakti movement was a movement of the common people  
II. It used the language of the common people 
III. It opened up space for Indian languages to grow  
a. I, II  b. I, III  c. II, III d. All of these    e. Answer not known  
gf;jp ,af;fk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. gf;jp ,af;fk; rhkhdpa kf;fspd; ,af;fkhFk;. 
II. ,t;tpaf;fk; kf;fspd; nkhopiaNag; gad;gLj;jpaJ 
III. ,e;jpa nkhopfs; tsh;tjw;fhd ,lj;ij ,t;tpaf;fk; Vw;gLj;jpf;nfhLj;jJ 
a. I, II  b. I, III  c. II, III d. ,it midj;Jk;    d. tpil njhpatpy;iy 

 
99. The term ‘Yavanapriya’ mentioned in Sanskrit texts denoted 

a. A fine variety of Indian Muslim 
b. Ivory 
c. Damsels sent to the Greek court for dance performance 
d. Pepper 
e. Answer not known 
rk];fpUj E}ypy; ‘atdgphpah’ vd;w thh;j;ij vij Fwpf;fpwJ? 

a. ,e;jpa K];yPk;fspd; jukhd nghUl;fs; 

b. je;jk; 
c. fpNuf;f mitf;F eldj;jpw;fhf mDg;gg;gl;l kzkhfhj ngz;  

d. kpsF 
e. tpil njhpatpy;iy 

 
100. Which of the following were common to both Buddhism and Jainism? 

1. Avoidance of extremities of penance and enjoyment 
2. Indifferent to the authority of the Vedas 
3. Denial of efficacy of rituals 
4. Non injury to animal life 
Select the correct answer using the codes given below: 
a. 1, 2, 3 and 4  b. 2, 3 and 4   c. 1, 3 and 4     
d. 1 and 2   e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j Fwpg;Gfs; Gj;j kjj;jpw;Fk; rkz rkaj;jpw;Fk; nghJthdjhf 
fUjg;gLfpwJ? 
1. gpuharpj;jk; NjLjy; kw;Wk; RfNghfq;fis mDgtpf;fhky; Kw;wpYkhf xJf;Fjy;. 
2. Ntjfhy mjpfhuth;f;fj;NjhL mbgzpa kWj;jy;. 
3. Nts;tpapdhy; gad; vd;w nfhs;ifia kWj;jy; 
4. tdtpyq;Ffis Jd;GWj;jhky; ,Uj;jy; 
fPo;f;fz;l Fwpg;gpd; JizNahL rhpahd gjpiy jUf. 
a. 1> 2> 3 kw;Wk; 4  b. 2> 3 kw;Wk; 4  c. 1> 3 kw;Wk; 4   
d. 1 kw;Wk; 2   e. tpil njhpatpy;iy 
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101. Match List I with List II  
List I    List II 
A. Vishakhadatta  1. Medicine 
B. Varahamihira  2. Drama  
C. Charaka   3. Astronomy 
D. Brahmagupta  4. Mathematics 

A B C D 
a.  1 3 4 2 
b.  2 1 3 4 
c.  2 3 1 4 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf. 
gphpT I    gphpT II 
A. tprhfj;jh   1. kUj;Jtk; 
B. thuhfkpfpuh  2. ehlfk; 
C. rufh   3. thdtpay; 
D. gpuk;k Fg;jh  4. fzpjk; 

A B C D 
a.  1 3 4 2 
b.  2 1 3 4 
c.  2 3 1 4 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
102. Which one of the following scripts of ancient India was written from right to left? 

a. Brahmi  b. Nandanagari  c. Sharada   
d. Kharoshti  e. Answer not known 
gz;ilf;fhy ,e;jpahtpy; fPo;f;fz;l vOj;Jf;fspy; ve;j vOj;J tyJ Gwj;jpypUe;J ,lJ 
Gwkhf vOjg;gl;Ls;sd. 
a. gpuk;kp  b. ee;jdfhhp   c. rhujh   
d. fNuh];jp  e. tpil njhpatpy;iy 

 
103. Milindapano is in the form of a dialogue between the King Menander and the Buddhist 

monk 
a. Nagasena   b. Nagarjuna   c. Nagabhatta    
d. Kumarilabhatta  e. Answer not known 
kpype;jghNdh vd;gJ kd;dh; Nkdhe;jUf;Fk; ve;j Gj;j Jwtpf;FkpilNa Nkw;nfhz;l 
ciuahly; MFk;. 
a. ehfNrdh   b. ehfh;[_dh   c.  ehfgl;lh     
d. Fkhpygl;lh;  e. tpil njhpatpy;iy 

 
104. The silver coins issued by the Guptas were called 

a. Rupaka  b. Karshapana   c. Dinara   
d. Pana  e. Answer not known 
Fg;jh;fshy; ntspaplg;gl;l nts;sp ehzaj;jpd; ngah; vd;d? 
a. &gfh  b. fhh;rhghd    c. jpdhuh   
d. ghdh  e. tpil njhpatpy;iy 
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105. Which of the following are correctly matched? 
1. Lothal : Ancient dockyard 
2. Sarnath : First Sermon of Buddha 
3. Rajgir : Lion capital of Asoka 
4. Nalanda : Great seat of Buddhist learning 
a. 1, 2, 3 and 4  b. 2, 3 and 4   c. 1, 3 and 4     
d. 1 and 2   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ rhpahf nghUe;JfpwJ. 
1. Nyhj;jy; - gz;ilf;fhy fly; thzpg jsk; 
2. rhuehj; - Gj;jh; Kjd;Kjyhf Nghjid nra;j ,lk; 
3. uh[fpufk; - mNrhfhpd; rpq;f jiyefuk; 
4. ehse;jh - Gj;jkjj;jpd; jiy rpwe;j fy;tp$lk; 
a. 1> 2> 3 kw;Wk; 4  b. 2> 3 kw;Wk; 4  c. 1> 3 kw;Wk; 4    
d. 1 kw;Wk; 2   e. tpil njhpatpy;iy 

 
106. The concept of Eight-Fold path forms the theme of 

a. Dipavamsa   b. Divyavadana   
c. Mahaparinirvan Sutta  d. Dharma Chakra Parvatana Sutta 
e. Answer not known 
vz;top khh;f;fk; ve;j Nfhl;ghl;il mbg;gilahf nfhz;lJ? 
a. jPgtk;rk;    b. jpt;atjdh 
c. kfhghpeph;td; Rj;jh  d. jh;krf;ughu;tjdh Rj;jh 
e. tpil njhpatpy;iy 
 

107. The Asokan major rock edicts which tell us about the Sangam Age Kingdom include rock 
edicts 
a. I and X   b. I and IX    c. II and XIII    
d. II and XIV   e. Answer not known 
ve;j mNrhfhpy; nghpa fy;J}z; fy;ntl;L rq;ffhy muir gw;wp Fwpg;gpLfpwJ? 
a. I kw;Wk; X   b. I kw;Wk; IX    c. II kw;Wk; XIII   
d. II kw;Wk; XIV  e. tpil njhpatpy;iy 
 

108. The following persons came to India at one time or another 
1. Fa-Hien  2. I-Tsing  3. Megasthanese d. Hieun-Tsang 
The correct chronological sequence of their visits 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. Answer not known 
fPo;f;fz;lth;fs; ,e;jpahtpw;F tp[ak; Nkw;nfhz;l ntspehl;L gazpfs; 
1. ghfpahd;  2. ,-l;rpq;  3. nkf];jdP]; 4. Athd; Rthq; 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4  
d. 1, 3, 4, 2  e. tpil njhpatpy;iy 

 
109. Consider the following 

Assertion (A): Asoka annexed Kalinga to the Mauryan Empire. 
Reason (R): Kalinga controlled the land and sea routes to South India. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
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gpd;tUtdtw;iw Ma;f. 
$w;W (A): mNrhfh; fypq;f ehl;il nkshpag; NguuRld; ,izj;jhh;. 

fhuzk; (R): njd;dpe;jpahtpw;F nry;Yk; fly; kw;Wk; epy khh;f;fj;ij fypq;fh jd; 
fl;Lg;ghl;by; itj;jpUe;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
110. Consider the following  

Assertion (A): The emphasis of Jainism on non-violence (ahimsa) prevented 
agriculturalists from embracing Jainism. 
Reason (R): Cultivation involved killing of insects and pests. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): rkz rkaj;jpy; cs;s mfpk;ir Nfhl;ghL tptrhapfis rkz rkaj;jpy; 
,iztij jLj;jJ. 
fhuzk; (R): rhFgb njhopypy; GOf;fisAk;> G+r;rpfisAk; nfhy;y Ntz;ba eph;g;ge;jk; 
cz;L. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
111. Emperor Harsha’s Southward march was stopped on the Narmada River by 

a. Pulakesin – I  b. Pulakesin – II   c. Vikramaditya – I   
d. Vikramaditya – II  e. Answer not known 
`h;~ rf;futh;j;jpapd; njd;dpe;jpa gilnaLg;G eh;kjh ejpf;fiuapy; ahuhy; jLj;J 
epWj;jg;gl;lJ. 
a. Kjyhk; GypNfrp  b. ,uz;lhk; GypNfrp   c. Kjyhk; tpf;ukhjpj;ah;  
d. ,uz;lhk; tpf;ukhjpj;ah  e. tpil njhpatpy;iy 
 

112. Choose the correct statements 
1. The Chinese pilgrim Fa-Hein attended the fourth Great Buddhist Council held by 

Kanishka. 
2. The Chinese pilgrim Hiuen-Tsang met Harsha and found him to be antagonistic to 

Buddhism 
a. only 1   b. Only 2    c. Both 1 and 2   
d. Neither 1 nor 2   e. Answer not known 
fPo;f;fz;l $w;iw Muha;e;J rhpahd $w;iw Njh;T nra;f. 
1. fdp~;fuhy; $l;lg;gl;l ehd;fhk; Gj;jkhehl;bd; rPd gazp ghfpahd; fye;J nfhz;lhh;. 
2. rPd gazp Athd;Rthq;Fk; `h;~Uk; re;jpj;jNghJ xUtUf;nfhUth; Gj;j rka 

vjph;g;ghsuhf fUjg;gl;lJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2    
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
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113. Who among the following laid the foundation of Rashtrakuta Empire? 
a. Amoghavarsa I  b. Dantidurga  c. Dhuruva   
d. Krishna I   e. Answer not known 
uhl;bu $l tk;rj;ij epWtpa kd;dh; ahh;? 
a. Kjyhk; mNkhfth;rh; b. jz;bJh;fh   c. JUth    
d. Kjyhk; fpU~;zh; e. tpil njhpatpy;iy  

 
114. The National motto of India, ‘Satyameva Jayate’ inscribed below the Emblem of India is 

taken from 
a. Katho Upanishad   b. Chandogya Upanishad c. Aitareya Upanishad  
d. Mundaka Upanishad  e. Answer not known 
Njrpa cWjp nkhopahd “rj;aNkt n[aNj” ve;j epidT rpd;dj;jpypUe;J 
vLf;fg;gl;Ls;sJ? 
a. fhNjh cgepljk;   b. rhe;j;Nahf cgepljk; c. Ij;Nua cgepljk;   
d. Kz;lf cgepljk;  e. tpil njhpatpy;iy 

 
115. Which one of the following books of ancient India has the love story of the son of the 

founder of Sunga Dynasty? 
a. Swapnavasavadatta  b. Malavikagnimitra  c. Meghadoot  
d. Ratnavali    e. Answer not known 
fPo;f;fz;l E}ypy; ve;j E}y; Rq;f tk;r epWtdhpd; fhjy; fij  
a. Rtg;d thrtjj;jh  b. khstpfhf;dpkpj;uh   c. NkfJ}J   
d. uj;dhtsp    e. tpil njhpatpy;iy 

 
116. The simple interest at x% for x years for a sum of amount is Rs.x. Then the sum is  

a. Rs.x   b. Rs.100x   c. Rs. 
100

x
   

d. Rs. 
2

100

x
  e. Answer not known

 
xU njhiff;F rhjhuz tl;bapy;  x%tPjk; x Mz;Lf;F &. x tl;b fpilf;fpwJ me;j 
njhif vt;tsT? 

a. Rs.x   b. Rs.100x   c. Rs. 
100

x
   

d. Rs. 
2

100

x
  e. tpil njhpatpy;iy

 
 
117. How long will it take a sum of money invested at 5% p.a. S.I. to increase its value by 40%. 

a. 8 years  b. 10 years   c. 12 years    
d. 16 years  e. Answer not known 
Mz;Lf;F 5% jdptl;b tPjj;jpy; KjyPL nra;ag;gl;l njhifapd; kjpg;G 40% mjpfhpf;f 
vt;tsT fhyk; MFk; 
a. 8 Mz;Lfs;  b. 10 Mz;Lfs;   c. 12 Mz;Lfs; 
d. 16 Mz;Lfs; e. tpil njhpatpy;iy 

 
118. At what rate of simple interest, the principle ` 48,000 will amount to ` 55,560 in 2 years 3 

months. 
a. 5%  b. 6%  c. 7%   d. 8%   e. Answer not known 
mry; Rs.48>000 MdJ 2 Mz;Lfs; 3 khjfhyj;jpw;F gpd; jdptl;b %yk; nkhj;jj; 
njhifahf Rs.55>560 Mf cah;e;jJ vdpy; tl;b tPjk; fhz;f 
a. 5%  b. 6%  c. 7%   d. 8%   e. tpil njhpatpy;iy 
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119. Ram deposited Rs. 200 at the beginning of every month in R.D and received Rs. 19,656 at 
the end of 6 years. Find the rate of S.I. paid by the bank 
a. 6%  b. 10%  c. 12%  d. 9%  e. Answer not known 
uhk; vd;gth; khjhkhjk; &.200 I tq;fpapy; njhlh; itg;Gj; njhif (R.D) %yk; nrYj;jp 
te;jhh;. 6 tUl Kbtpy; &.19>656 I ngw;Wf; nfhz;lhh; vdpy; tq;fp mtUf;F mspj;j 
jdptl;b tPjj;ijf; fhz;f. 
a. 6%  b. 10%  c. 12%  d. 9%  e. tpil njhpatpy;iy 

 
120. Arvind borrowed a sum of Rs. 8,000 from Akash at 7%. per annum. Find the amount to be 

paid at the end of 2 years at simple interest. 
a. Rs. 1,120   b. Rs. 1,210    c. Rs. 9,120   
d. Rs. 9,210   e. Answer not known 
mutpe;j; vd;gth; Rs.8000 I> Mfh~; vd;gthplkpUe;J Mz;Lf;F 7% jdptl;b tPjk; 
fldhfg; ngw;whh;. ,uz;L Mz;Lfspd; Kbtpy; mutpe;j; nrYj;j Ntz;ba nkhj;jj; 
njhifia fhz;f. 
a. Rs. 1,120   b. Rs. 1,210   c. Rs. 9,120   
d. Rs. 9,210   e. tpil njhpatpy;iy 

 
121. Which one of the following monuments has a dome which is said to be the largest in the 

world? 
a. Tomb of Sher Shah, Sasaram    b. Juma Masjid, Delhi 
c. Tomb of Ghiyas-ud-din Tughlaq, Delhi  d. Gol Gumbaz, Bijapur 
e. Answer not known 
ve;j epidT rpd;dj;jpy; mikf;fg;gl;l rkhjp cyfpNyNa kpfg; nghpa rkhjpahf 
fUjg;gLfpwJ. 
a. rrhuj;jpy; cs;s n~h;~htpd; rkhjp   b. nly;ypapd; [pk;kh k#jp 
c. nly;ypapy; cs;s [pahRjPd; Jf;sf;fpd; rkhjp d. gP[g;G+hpy; cs;s Nfhy;Fk;gh]; 
e. tpil njhpatpy;iy 
 

122. The Modi Script was employed into the documents of the  
a. Wodeyars/Udaiyars  b. Zamorins   c. Hoysalas    
d. Marathas    e. Answer not known 
Nkhb vOj;JKiw ve;j murpd; gj;jpuj;jpy; Fwpg;gplg;gl;Ls;sJ 
a. cilahh;fs;   b. rhkhhpd;fs;   c. n`ha;rhyh;fs;   
d. kuhj;jpah;fs;   e. tpil njhpatpy;iy 
 

123. Mughal Painting reached its zenith under 
a. Humayun   b. Akbar   c. Jahangir     
d. Shahjahan   e. Answer not known 
nkhfyha Xtpak; ahUila fhyj;jpy; cr;repiyia mile;jJ. 
a. `_khA+d;   b. mf;gh;   c. [`hq;fPh;   
d. ~h[`hd;   e. tpil njhpatpy;iy 

 
124. After consolidating his power, Balban assumed the Grand Title of 

a. Tute-i-Hind   b. Kaisr-i-Hind   c. Zil-i-Ilahi   
d. Din-i-Ilahi    e. Answer not known 
jdJ mjpfhuj;ij ];jpug;gLj;jpa gpd; ghy;gd; jdf;F ve;j tpUij #l;bf;nfhz;lhh;? 
a. Jj;jp-,-`pe;J   b. ifrh;-,-,e;J   c. ~py;-,-,yhfp  
d. jPd;-,-yh`p   e. tpil njhpatpy;iy 
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125. Consider the following: 
1. Tughlaqabad fort  2. Lodi Garden 3. Qutub Minar 4. Fatehpur Sikri 
The correct chronological order in which they were built is 
a. 3, 1, 4, 2  b. 3, 1, 2, 4    c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. Answer not known 
fPo;f;fz;ltw;iw rhpahd fhythpirg;gb vOjTk;. 
1. Jf;sfhghj; Nfhl;il 2. Nyhb Njhl;lk; 3. FJg;kpdhh;  4. gNjG+h; rpf;hp 
a. 3, 1, 4, 2  b. 3, 1, 2, 4    c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. tpil njhpatpy;iy 

 
126. Match List I with List II  

List I   List II 
A. 1556  1. Battle of HaldiGhati 
B. 1600  2. Nadir Shah’s capture of Delhi  
C. 1686  3. Death of Shivaji 
D. 1739  4. Grant of Charter to East India Company 
   5. Accession of Akbar 

A B C D 
a.  3 4 2 1 
b.  5 4 3 2 
c.  5 2 1 4 
d.  1 5 3 2 
e. Answer not known 
nghUj;Jf. 
njhFjp I  njhFjp II 
A. 1556  1. `hy;jpfhl;b Nghh; 
B. 1600  2. ehjph;~h nly;ypia ifg;gw;Wjy; 
C. 1686   3. rpth[papd; kuzk; 
D. 1739  4. fpof;fpe;jpa fk;ngdp rhrdk; ntspaplg;gl;lJ 
   5. mf;gh; mhpaizapy; mkh;jy; 

A B C D 
a. 3 4 2 1 
b.  5 4 3 2 
c. 5 2 1 4 
d.  1 5 3 2 
e. tpil njhpatpy;iy 
 

127. The Sultan of Delhi who is reputed to have built the biggest network of canals in India 
was 
a. Illtutmish   b. Ghiyasuddin Tughlaq  c. Feroze Shah Tughlaq  
d. Sikandar Lodi  e. Answer not known 
,e;jpa Ry;jhd;fspy; ahh; rpwg;ghd ePz;l J}u fhy;tha;fis mikj;jdh;? 
a. ,y;Jkp~;   b. fpahRjPd; Jf;sf;   c. ngNuh]; ~h Jf;sf;  
d. rpf;fe;jh; Nyhb  e. tpil njhpatpy;iy 

 
128. Which one of the following pairs is not correctly matched? 

a. Jahangir : William Hawkins  b. Akbar : Sir Thomas Roe 
c. Shahjahan : Travernier   d. Aurangzeb : Manucci 
e. Answer not known 
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fPo;f;fz;l ,izapy; jtwhd ,izia fz;lwpf. 
a. [`hq;fPh; : tpy;ypak; `hf;fpd;]; b. mf;gh; : rh;jhk]; Nuh 

c. ~h[`hd; : buhtdPh;   d. mTuq;frPg; : kDrp 
e. tpil njhpatpy;iy 

 
129. Match List I with List II 

List I    List II 
 A. Iqta   1. Marathas 
 B. Jagir   2. Delhi Sultans  
 C. Amaram   3. Mughals 
 D. Mokasa   4. Vijayanagara 

A B C D 
a. 3 2 1 4 
b.  2 3 4 1 
c. 2 3 1 4 
d.  3 2 4 1 
e. Answer not known 
nghUj;Jf. 
njhFjp I   njhFjp II 
A. ,f;jh   1. kuhj;jpah; 
B. [h`Ph;   2. nly;yp Ry;jhd;fs; 
C. mkuk;   3. Kfyhah;fs; 
D. Nkhfrh   4. tp[a efuk; 

A B C D 
a. 3 2 1 4 
b.  2 3 4 1 
c. 2 3 1 4 
d.  3 2 4 1 
e. tpil njhpatpy;iy 

 

130. Which one of the following Muslim rulers was hailed as the ‘Jagadguru’ by his Muslim 
subject because of his belief in secularism? 
a. Hussain Shah  b. Zain-ul-Abdin   c. Ibrahim Adil Shah  
d. Mahmud II  e. Answer not known 
jd;Dila kjr; rhh;gw;w nfhs;ifahy; ve;j K];yPk; kd;dh; [fj;FU vd;W 
miof;fg;gl;lhh;? 
a. `_ird; ~h  b. i~d;-cy;-mg;bd;   c. ,g;uh`pk; mby; ~h  
d. ,uz;lhk; Kfk;kJ e. tpil njhpatpy;iy 

 

131. The correct chronological sequence of these events is 
1. Region of Krishna Devaraya of Vijayanagaram 
2. Construction of Qutub Minar 
3. Arrival of Portuguese in India 
4. Death of Firoz Tughlaq 
a. 2, 4, 3, 1   b. 2, 4, 1, 3   c. 4, 2, 1, 3  
d. 4, 2, 3, 1   e. Answer not known 
epfo;Tfis fhythpirg;gLj;Jf 
1. tp[aefu Nguurpd; fpU~;z Njtuhahpd; gFjp 
2. FJg;kpdhh; fl;lg;gLjy; 
3. ,e;jpahtpw;F Nghh;j;Jf;fPr;rpahpd; tUif 
4. ngNuh~; Jf;sf;fpd; kuzk;  
a. 2, 4, 3, 1   b. 2, 4, 1, 3   c. 4, 2, 1, 3  
d. 4, 2, 3, 1   e. tpil njhpatpy;iy 
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132. The Mangols under Chengiz Khan invaded India during the reign of  
a. Balban    b. Firoz Tughlag   c. Iltutmish   
d. Mohammed Bin Tughlaq e. Answer not known 
kq;Nfhypah;fs; nrq;fp];fhdpd; jiyikapy; ,e;jpahit jhf;Fk;NghJ ,e;jpahtpd; kd;dh; 
ahh;? 
a. ghy;gd;    b. ngNuh]; Jf;sf;   c. ,y;Jj;kp];   
d. Kfk;kJ gpd; Jf;sf;  e. tpil njhpatpy;iy 

 
133. Consider the following statements. 

Assertion (A): The battle of Khanwa was certainly more decisive and significant than the 
First Battle of Panipet. 
Reason (R): Rana Sanga, the Rajput hero, was certainly a more formidable adversary than 
Ibrahim Lodi. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not knoan 
gpd;tUtdtw;iw ftdp. 
$w;W (A):  Kjy; ghdpgl; Nghiu tpl fhd;th Nghh; rpwg;ghdjhfTk;> jPh;khdpf;Fk;  

NghuhfTk; ,Ue;jJ. 
fhuzk; (R): uh[Gj;jpu tPuh; ,uhzhrq;fh mbg;gilapNyNa ,g;uh`pk; Nyhbia tpl  

jiy rpwe;j tPuh; Mthh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
134. Consider the followings statements. 

Assertion (A): Saluva Narasimha put an end to the old dynasty and assumed the royal 
title. 
Reason (R): He wanted to save the kingdom from further degeneration and disintegration. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): rhSt eurpk;kd; gioa tk;rj;jpd; Ml;rpf;F Kw;WGs;sp itj;J jhd; 
cah;e;j nghWg;ig Vw;Wf;nfhz;lhh;. 
fhuzk; (R): jd;Dila Ml;rp NkYk; rpjwhky;> gphpe;Jtplhky; ghJfhf;f tpUk;gpdhh;. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 

135. Who was the last ruler of the Tuglaq dynasty of the Delhi Sultanate? 
a. Firuz Shah Tughaq  b. Ghiyas-ud-din Tughlaq Shah II 
c. Nasir-ud-din Mahmud  d. Nusrat Shah 
e. Answer not known 



 

33 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

nly;yp Ry;jhd;fspy; Jf;sf; tk;rj;jpd; filrp kd;dh; ahh;? 
a. ngu]; ~h; Jf;sf;   b. ,uz;lhk; fpahRjPd; Jf;sf; ~h 

c. erpUjPd; Kfk;kJ   d. e];uj;~h 
e. tpil njhpatpy;iy 

 
136. The famous literary work Tabqiq-i-Hind was written by     

a. Alberuni      b. Badami   c. Zia-ud-din Barni    
d. Khafi Khan   e. Answer not known 
Gfo;ngw;w ,yf;fpag; gilg;ghd jgpf;-,-`pe;j; vOjpath; _____. 
a. my;ngUdp   b. gjhkp   c. ~pah-c-jPd;-ghuzp   
d. fh/gp fhd;  e. tpil njhpatpy;iy 

 
137. Alauddin Khalji became the Sultan of Delhi in 1296 AD after treacherously murdering his 

uncle and patron. Who was this patron? 
a. Jalaluddin Firuz   b. Nasiruddin Khusrau Shah  
c. Ghiyasuddin Balban  d. Qutubuddin Mubarak 
e. Answer not known 
myhTjPd; fpy;[p fp.gp 1296-y; jdJ khkd; kw;Wk; fhg;ghsiuj; JNuhfj;jpd; %yk; nfhiy 
nra;j gpwF nly;ypapd; Ry;jhdhdhh;. mtuJ fhg;ghsh; ahh;? 
a. [yhYjPd; ngNuh];  b. eR&jPd; F~;ut; ~h 
c. fpahRjPd; ghy;gd;   d. Fj;GjPd; Kghuf; 
e. tpil njhpatpy;iy 

 
138. Tulsidas, the author of Ramcharitamanas, was a contemporary of which of the following 

rulers? 
a. Akbar    b. Humayun   c. Shahjahan  
d. Sher Shah Suri   e. Answer not known 
gpd;tUk; Ml;rpahsh;fSs; uhkrhpjkdh]; ,aw;wpa Jsrpjhrhpd; rkfhyj;jtuhf ,Ue;jth; 
______. 
a. mf;gh;   b. `pkhA+d;   c. ~h[fhd;  
c. n~h;~h #hp  e. tpil njhpatpy;iy 

 
139. Who was the author of Padmavat? 

a. Abdur Rahim   b. Jayasi    c. Kabir   
d. Surdas   e. Answer not known 
gj;khtjp vDk; E}iy vOjpath; ahh;? 
a. mg;Jh; u`pk;  b. n[a=   c. fgPh;   
d. #h;jh];   e. tpil njhpatpy;iy 

 

140. Two of the great Mughals wrote their own memoirs. They were 
      a. Babur and Humayun   b. Humayun and Jahangir 

c. Babur and Jahangir    d. Jahangir and Shahjahan  
e. Answer not known 
jq;fSila Rarhpijia jhq;fNs vOjpa Gfo;ngw;w ,uz;L Kfyhah;fs; ______. 
a. ghgh; kw;Wk; `pkhA+d;   b. `pkhA+d; kw;Wk; [`hq;fPh; 
c. ghgh; kw;Wk; [`hq;fPh;   d. [`hq;fPh; kw;Wk; ~h[fhd; 
e. tpil njhpatpy;iy 

 

141. Who amongst the following, Rajputs offered uncompromising resistance to the Mughals 
in the sixteenth century and never accepted their overlordship? 
a. Rana Fateh Singh   b. Rana Kumbha    c. Rana Pratap   
d. Rana Sanga  e. Answer not known 
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gpd;tUk; uh[Gj;jpuh;fSs; 16-k; E}w;whz;by; Kfyhah;fSf;F vjpuhf kPJ rkurkw;w 
vjph;g;gpid toq;fpatUk;> mth;fspd; Nkyhjpf;fj;ij xUNghJk; Vw;Wf; nfhs;shjtUk; 
ahh;? 
a. uhzh gNj rpq;  b. uhzh Fk;gh   c. uhzh gpujhg;   
d. uhzh rq;fh  e. tpil njhpatpy;iy 

 
142. At which of the following battles was artillery used for the first time by one of the two 

parties to the battle? 
a. First Battle of Panipat    b. Battle of Chandwar 
c. Second Battle of Panipat   d. Battle of Khanwa 
e. Answer not known 
gpd;tUk; Nghh;fspy; Kjy; Kiwahf 2 mzpfspy; xd;wpy; gPuq;fpg; gilahdJ 
cgNahfpf;fg;gl;l Nghh; vJ? 
a. Kjyhk; ghdpgl; Nghh;   b. re;jthh; Nghh; 
c. ,uz;lhk; ghdpgl; Nghh;   d. fd;th Nghh; 
e. tpil njhpatpy;iy 

 
143. Who built the mausoleum of Jahangir and where? 

a. Nur Jahan at Lahore    b. Shahjahan at Agra  
c. Nur Jahan at Fatehpur Sikri  d. Shahjahan at Delhi 
e. Answer not known 
[`hq;fPhpd; fy;yiwahdJ ahuhy;> vq;F fl;lg;gl;lJ? 
a. E}h;[`hd;> yh$hpy;   b. ~h[fhd;> Mf;uhtpy; 
c. E}h;[`hd;> gNj/G+h; rpf;hpapy;  d. ~h[fhd;> nly;ypapy; 
e. tpil njhpatpy;iy  

 
144. The Italian traveller, who left very praiseworthy account of the Vijayanagar Empire, was 

a. E. Barbosa         b. Manucci    c. Marco Polo        
d. Nicolo Conti  e. Answer not known 
tp[aefug; Nguurpidg; gw;wpa Nghw;wj;jf;f gjpg;gpid tpl;Lr; nrd;w ,j;jhypag; gazp 
______. 
a. ,. ghh;Nghrh  b. khDf;rp   c. khh;f;Nfh NghNyh   
d. epf;NfhNyh Nfhz;b e. tpil njhpatpy;iy 

 
145. Mohenjadaro is situated in the district of  

a. Punjab  b. Larkhana    c. Bavalpur   
d. Gujarat  e. Answer not known 
nkhfQ;rjhNuh ve;j khtl;lj;jpy; cs;sJ? 
a. gQ;rhg;  b. yh;f;fhdh    c. ghty;G+h;   
d. F[uhj;  e. tpil njhpatpy;iy 

 
146. Anbu borrowed Rs. 3600 at 15% simple interest per annum. At the end of 4 years, he 

cleared this account by paying Rs. 4000 and a Watch. The cost of the watch is _______ 
a. Rs 1000   b. Rs 1200   c. Rs 1550   
d. Rs 1760   e. Answer not known 
md;G Mz;Lf;F 15% jdp tl;bapy; &.3600 fld; thq;fpdhh;. 4 tUl Kbtpy; 4000 &gha; 
kw;Wk; xU iff;fbfhuj;ij mspj;J flid milj;jhh; vdpy;> iff;fbfhuj;jpd; tpiy 
a. Rs 1000   b. Rs 1200   c. Rs 1550   
d. Rs 1760   e. tpil njhpatpy;iy 

 
147. At simple interest a sum of money is double in 20 years. What is the rate of interest? 

a. 20%  b. 4%  c. 5%  d. 10%  e. Answer not known 
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xU Fwpg;gpl;l njhifahdJ jdptl;b Kiwapy; 20 Mz;Lfspy; ,Uklq;fhfpwJ vdpy;> 
tl;b tPjj;ij fhz;f. 
a. 20%  b. 4%  c. 5%  d. 10%  e. tpil njhpatpy;iy 

 
148. Find the simple interest on Rs. 5 a2b2 for 4ab years at 7b% per annum. 

a. 3 47

5
a b  b. 4 37

4
a b  c. 4 34

5
a b  d.

 

3 42

5
a b  e. Answer not known  

Rs. 5 a2b2 ,f;F 4ab tUlj;jpw;F 7b% tPjk; jdptl;b fhz;f 

a. 3 47

5
a b  b. 4 37

4
a b  c. 4 34

5
a b  d.

 

3 42

5
a b  e. tpil njhpatpy;iy 

 
149. Find the simple interest due on Rs 7,500 at 8 % per annum for 1 year 6 months. 

a. Rs.700  b. Rs.800   c. Rs.900    
d. Rs.1000  e. Answer not known 
Rs.7,500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdptl;bia fhz;f. 
a. Rs.700  b. Rs.800   c. Rs.900    
d. Rs.1000  e. tpil njhpatpy;iy 

 

150. A certain sum of money amounts to Rs.6,500 in 3 years and Rs. 5,750 in 
1

1
2

 years 

respectively. Find the principal. 
a. Rs.4,000  b. Rs.4,750    c. Rs.5,000    
d. Rs.5,550  e. Answer not known 

xU Fwpg;gpl;lj; njhifahdJ 3 Mz;Lfspy; Rs.6>500 MfTk; 
1

1
2

 Mz;Lfspy; Rs.5>750 

MfTk; khWfpwJ. mry; njhifiaf; fhz;f. 
a. Rs.4,000  b. Rs.4,750    c. Rs.5,000    
d. Rs.5,550  e. tpil njhpatpy;iy 


